06/A(° )go_I/gM#
06/A (22 )é;el =PNE
06/BL(3t2) Mol/EAE &
06/C (2~2) Mol/EAH £ Ao:t
06/C (2~2) Ho/HAH £+
07/A (E432) Hol/B8Aad 49
07/B1 (3t2) Hol/HAE £
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08/A (242) OFR0I2 ¢
b
!

4> +> 1
2 02 02 02 02

08/A (24:2) 0FR0I2 ¢!

08/B (3I=E) OrRO0F2 &

08/B (§+%§) ET =L
09/A (E42) Hol/HAE 49
00/A (B4 2) & OI/E A 4o
09/S1 (E) Oi2lol/EAE A0E
10/A (B42) Hol/BAE 29
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11/S () 4 01/= A3 oA
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11/S (E) 40/HAE FTouad
11/S () A0l/HAE Tatag
11/S () Hol/M A Tatag
11/S (£) 0 210] =242 (26~12A1)
11/S (£) 021 0] F=L 4% (26~124))
11/S (£) 0 210] =242 (26~12A1)
11/S (£) 021 0] F=L 4% (26~124))
11/S (£) 0 210] =242 (26~12A1)
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13/A (242) & 002 2!(2H60AI 0] At
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13/A (242) & B 002 !(2r60AI 0] &)
13/A (242) & 002 2/(2r60AI 0] 4}
13/B1 (3+=) AlH{ OF0F2 8! (260 A 0] Ay
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13/S (£) 01210] =224 (2+6~124])
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14/S (£) 01210] Y224 (2+6~124])
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15/B1 (312) Hol/HAE £
15/B1 (3+2) Hol/HAEH £
15/S () HOol/HAE FY2
15/S () Hol/E A =2
15/S () Mol/HAE FY2

15/S (E) 0/ 2101 =24 (2H6~12A)

15/S (£) 0 210] =242 (2r6~12A4)

16/A (B22) 0210/ 22 (2H7 HI~12A1)

16/A (2 42) 01210/ 22 (2H7 HI~12A1)

16/B1 (3+=) 01210122 (27 M ~1241)
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16/B1 (3t=) S 0H4 2 (2+5~6A)
17/A (B42) 021022 (2H7 HI~12A1)

17/A (B4 2) 20k (0+5~6Al)
17/B1 (3+=) 01 210122 (27 M ~12A1)
18/B1 (3+=) 0121 012 2 (27 Al ~12A4)
18/B1 (3+=) 01210122 (27 M ~1241)
18/B1 (3+=) 01210122 (27 Al ~12A4])
19/B1 (3+=) 01210l A 0=

J

20/C (2~2) Hol/HAE
20/C (B~2) HOl/HAH
20/C (2-2) Hol/H A
2UA (H22) HolmAad
2UA (B42) Hol/E A
21/B1 (3t2) M ol/E A A
21/B1 (3
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